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	PROBLEM 5-7
	


(a)

	MAS Inc.

	Income Statement

	For the Five Months Ended May 31, 2002

	Sales ($22,770 + $5,320 + $4,226)
	
	$32,316

	Cost of goods sold
	
	

	      Purchases ($14,400 + $256 – $130)
	$14,526
	

	      Less inventory—May 31, 2002
	  (1,840)
	 12,686

	Gross profit
	
	19,630

	Operating expenses
	
	

	      Salaries and wages ($5,500 + $240)
	5,740
	

	      Utilities ($4,000 + $270)
	4,270
	

	      Rent ($1,800 X 5/6)
	1,500
	

	      Insurance ($1,920 X 5/12)
	800
	

	      Advertising
	424
	

	      Amortization ([$3,000 ( 5] X 5/12)
	250
	

	      Maintenance
	    110
	 13,094

	Income from operations
	
	6,536

	      Interest expense*
	
	     116

	Income before income taxes
	
	  6,420

	      Income taxes (20%)
	
	  1,284

	Net income
	
	$5,136

	
	
	

	Earnings per share ($5,136 ( 1,000)
	
	$5.14


*Quarterly principal payments are calculated as follows:


Total principal


$2,880


Total quarters


(     12

Quarterly payments

$   240
On April 1, 2002, interest was paid as follows:


2,880 X 10% X 3/12 = $72

PROBLEM 5-7 (Continued)

First payment on April 1 is therefore:


Principal



$240


Interest



    72

Total payment


$312

Interest for April and May then is as follows:


Interest [($2,880 – $240) X 10% X 2/12]
$44

Interest expense through May 31 is therefore as follows:


Jan.-Mar.




$  72


April-May




    44







$116

(b)

	MAS Inc.

	Balance Sheet

	May 31, 2002

	Assets

	Current assets
	
	

	      Cash ($33,600 – $31,446)
	
	$  2,134

	      Accounts receivable
	
	4,226

	      Inventory of baking materials—
         at cost
	
	
1,840

	      Prepaid insurance ($1,920 X 7/12)
	
	1,120

	      Prepaid rent ($1,800 X 1/6)
	
	      300

	            Total current assets
	
	 9,620

	Display cases and equipment
	$3,000
	

	      Less accumulated amortization
	    250
	   2,750

	            Total assets
	
	$12,370


PROBLEM 5-7 (Continued)

	Liabilities and Shareholders’ Equity

	Current liabilities
	
	

	      Current portion of instalment 
         loan ($240 X 4)
	
	
$  960

	      Accounts payable ($256 + $270)
	
	526

	      Wages payable
	
	240

	      Income taxes payable
	
	1,284

	      Interest payable 

[($2,880 – $240) X .10 X 2/12]
	
	      44

	            Total current liabilities
	
	3,054

	
	
	

	Instalment loan  ($2,880 – $240)
	$2,640
	

	      Less current maturities
	     960
	

	            Total long-term debt
	
	  1,680

	            Total liabilities
	
	4,734

	
	
	

	Shareholders’ equity
	
	

	      Common shares, 1,000 shares issued and outstanding
	
2,500
	

	      Retained earnings
	  5,136
	

	            Total shareholders’ equity
	
	  7,636

	            Total liabilities and 
               shareholders’ equity
	
	
$12,370

	
	
	


CASE 5-6

Date

James Spencer, III, CEO

Spencer Corporation

125 Bay Street

Toronto, ON

Dear Mr. Spencer:

I have good news and bad news about the financial statements for the year ended December 31, 2001. The good news is that net income of $100,000 is close to what we predicted in the strategic plan last year, indicating strong performance this year. The bad news is that the cash balance is seriously low. Enclosed is the Statement of Cash Flows which best illustrates how both of these situations occurred simultaneously.

If you look at the operating activities, you can see that all of the cash generated by operations was used to increase accounts receivable and inventory and to substantially reduce the accounts payable. While these are positive activities, they reduced your cash balance by $116,000. Two activities, which are incompatible with each other, are the increases in inventory with the decreases in accounts payable. You might want to check into any changes in your business practices that have caused this unlikely combination.

The corporation made significant investments in equipment and land. These were paid from cash reserves. While it is good that no monies were borrowed against these assets, these purchases used over 75% of the company's cash. In addition, the redemption of the bonds improved the equity of the corporation and reduced interest expense. However, it also used 25% of the corporation's cash. It is normal to use cash for investing and financing activities. But when cash is used, it must also be replenished.

Operations normally provide the cash for investing and financing activities. Since there is a finite amount of assets to sell and funds to borrow or raise from the sale of capital shares, operating activities are the only renewable source of cash. That is why it is important to keep the operating cash flows positive. Cash management requires careful and continuous planning.

CASE 5-6 (Continued)

There are several possible remedies for the current cash problem. First, prepare a detailed analysis of monthly cash requirements for the next year. Second, investigate the changes in accounts receivable and inventory and work to return them to more normal levels. Third, look for more favourable terms with suppliers to allow the accounts payable to increase without loss of discounts or other costs. Finally, since the land represents a long-term commitment without immediate plans for use, consider shopping for a low interest loan to finance the acquisition for a few years and return the cash balance to a more normal level.

If you have additional questions or need one of our staff to address this problem, please contact me at your convenience.

Sincerely yours,

Partner in Charge

COMPARATIVE ANALYSIS CASE

(a) Both Abitibi-Consolidated Inc. and Domtar Inc. use the report format for their respective balance sheets.

(b) All figures except ratios in millions of Canadian dollars:

	
	Abitibi
	
	Domtar


	
	2000
	
	1999
	
	2000
	
	1999

	Current assets
	 $  1,659 
	
	 $   791 
	
	 $1,028 
	
	 $   846 

	Current liabilities
	      1,698 
	
	      431 
	
	640
	
	615

	Current ratio
	        0.98 
	
	       1.84 
	
	      1.61 
	
	       1.38 


	
	Abitibi
	
	Domtar


	
	2000
	
	1999
	
	2000
	
	1999

	Debt
	 $  8,160 
	
	 $ 2,225 
	
	 $2,436 
	
	 $  2,228 

	Equity
	      3,095 
	
	     1,489 
	
	    1,831 
	
	     1,791 

	Debt to Equity ratio
	2.64
	
	1.49
	
	1.33
	
	1.24


We can conclude from the above brief analysis that Domtar is in a much better liquidity and solvency position than Abitibi. For 2000, Domtar’s current ratio is higher showing better liquidity. In the case of the debt to equity ratio, Domtar’s ratio has deteriorated (increased) by a smaller margin than Abitibi’s, which increased by 77%, showing a much heavier reliance on debt.

COMPARATIVE ANALYSIS CASE (Continued)

(c) The cash flow trends of the two companies can be summarized as follows: (all figures in Millions of Canadian dollars).

	
	Abitibi
	
	Domtar


	
	2000
	
	1999
	
	1998
	
	2000
	
	1999
	
	1998

	Cash from operating activities
	 $ 1,192 
	
	 $   375 
	
	 $  426 
	
	 $  587 
	
	 $ 326 
	
	 $ 248 

	Cash from investing activities
	      (560)
	
	     (372)
	
	    (795)
	
	    (282)
	
	  (187)
	
	 (663)

	Cash from financing activities
	      (532)
	
	       (72)
	
	      430 
	
	    (279)
	
	  (145)
	
	  141 

	Net change in cash
	 $   100 
	
	 $  (69)
	
	 $  61 
	
	 $    26 
	
	 $   (6)
	
	$(274)


From the above trends, one can conclude that these two companies have experienced significant changes in the sources of cash over the last three years.  In fiscal year 1998, both companies made major business acquisitions, and obtained varying levels of new debt to finance these acquisitions.  Although Domtar appears to have mismanaged cash in fiscal 1998 from extremely high levels of investments, it managed to do so without obtaining extremely high levels of debt, compared to Abitibi, because it started the 1998 fiscal year with cash and cash equivalents of $283 Million.  As is analysed in the early portion of this case, Abitibi has remained at a much higher debt level than Domtar as it continues to make reinvestments into the business in capital additions, in amounts that exceed Domtar’s for the same fiscal periods.  
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